SH2F4B81BRE BEHEFREEFRERAORVUHE

SHIFE4A1BRE B ETEEEXREIIRAODORUHTE

g & B =i AR B | #HEHK M2 B A0 % AQ N = HEH

I\ ithig 6,454 6,791 13,245 5,460 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA
AFNHbig 3,156 3,293 6,449 2,207 I\ ithig 6,323 117 6,645 92 12,968 209 5,430 165
B &bl 5318 5,556 10,874 3,983 Kfihigk 3,120 49 3,260 12 6,380 61 2,235 61
=B 1,484 1,564 3,048 1,098 B S 5,231 65 5,489 78 10,720 143 4,008 136
K ilfi Hhig 1,956 2,019 3,975 1,372 = B ihig 1,478 13 1,538 19 3,016 32 1,111 31
B Fithis 792 820 1,612 559 Kt Hhig 1,923 15 1,972 34 3,895 49 1,348 39
15 ihis 806 873 1,679 705 B £ ih i 771 3 790 6 1,561 9 557 9
B EH2HE 19,966 20,916 40,882 15,384 15 ihig 808 25 846 42 1,654 67 704 64
MEmLHE 19,654 287 20,540 283 40,194 570 15,393 505

&R (AT A kL) A 105 A 13 A157] A 13 A 262 A 26 A22| A24

HEREXSBRAQFNAEAERZSD.
Bt =i =1 HE
P SHELA (T2 H) 276 291 567 506 SHIF4IR1BRTE BETEEERSRAORUHE(BREADH)

g B ZH | A0 B | HER

I\ ihig 6,206 6,553 12,759 5,265
AKFxhig 3,071 3,248 6,319 2,174
B Sithig 5,166 5411 10,577 3,872

= B b g 1,465 1,519 2,984 1,080
Klfi high 1,908 1,938 3,846 1,309
BA = Bhigk 768 784 1,552 548
1 5 ih g 783 804 1,587 640
MEmLHE 19,367 | 20,257 39,624 | 14888
¥E (R A L) A92| A 144 A 236 2




